Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C321102 Date: 03-6-2016
Subject Name: Electronic Networks

Time: 10.30 AM TO 12:00 PM Total Marks: 70
Instructions:

Attempt all questions.

Make suitable assumption wherever necessary,

Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible, (Scientific/Higher Version not allowed)

English version is authentic.

AT b

Question Text and Option. Y3 e ([dseul.
Which of the following is not a passive element

A Resistor B.  Voltage source

C. Inductor D.  Capacitor

o{lAotriell s2 R ANz atell.

. WlkeR o, ey WA

5. 805522 5. 3URe?

Which of the following is a unilateral element

A. Resistor B. Inductor

C. Silicon diode D. None of these
o{ldetiniell sal Yyolldee Aoz B,

A flker W, Bo552R

5.  R[Asle stals s. Ll sls uel «8l
Two capacitors 4 pF and 6 pF are connected in parallel then total capacitance is
A. 2 pF B. 1/10pF

C.  12/5 pF D. 10pF

A 3022 4 pF el 6 pFol AHLAR lscll e 3Ulesn

5 12/5 pF s, 10pF

Ideal voltage source has internal resistance of

A 0Q B. 10Q
C. 1Q D. xQ
BB cdleger Aol Sozold 20fleet

2w 00 o 100
5. 1Q 5. o0

“Any linear bilateral network having energy sources and resistances can be replaced by equivalent
circuit consisting of voltage source in series with an equivalent resistance.” Is a statement of which
theorem?

A. Thevenin’s theorem B.  Maximum power transfer theorem

C. None of these D. Norton’s theorem
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10.

10.

11.

Aot AR el 2oflect wrtadl 818 wel @l cusded dedba A ss<ldcse
deaddll wecll asta Bl As cdleeey WA ual {ABul 8scfldcdoe 0ot slat- 2L
56 (AU} ReHe2 B?

., Adeldl @AM o, AGRAHH War 2leus: [@Au

s, el sls el <8l s.  olleledt @AN

When the image impedances of port 1-1”° and port 2-2” are equal to each other then image impedance
is called

A Characteristics impedance B.  Transfer impedance

C. Driving point impedance D.  lterative impedance

AR We 1-1 el W 2-27 oll B0 S1Ulsod UL 8l R B8R S1dlsodal g secua?
w. 3esedldls sadlsou o, 2leds? srdlset

5. sidlol Wee s1dlset 5. g2¥dld srdlset

The point at which two or more elements meet is called

A. Branch B. Node

C. Loop D. Mesh

% (gl d 3 dell auR AclAzn A dal g sdaua?

A ol o. oS

5. €M s. Ay

Star to delta and delta to star conversion is used to simplify circuit elements connected in

A, Series B.  Parallel

C. Series-parallel D. None of these

RAR ¢ 32l Ul 32l ¢ RIR soctdel 58 Il HlslAcll usle AcllAozal Rrcllstal sz
QU B?

wu. H{AR o, Add

5. E»-ad 5. wHill sls uel 8l

If electrical properties are changed when input and output terminals are interchanged the network is
called

A. Symmetrical network B.  Output network

C. Input network D. Asymmetrical network

% slectholl Botye ol wBayze 2flolclal BoeABex scll doll sAsEsA WUl slecua
dol 58 olead séau?

U RAALsc dedb o. wBaye dead

5. ®olye dadb 5. ARALsA dead

Relationship between characteristics impedance of symmetrical T and n network is
A, (Zom Y*(ZoT )=Z1Z2 B. (Zom)*( ZoT )=Z2/Z1

C. ( Zon Y¥( ZoT Y=Z1/Z2 D. None of these

RAEsc Tuol n deddoll 33s233ls srdlsort ol g Aoiu B2

w  (Zom ¥ ZoT)=Z1Z2 o (Zom)*(ZoT )=Z2/Z1

5. (Zon)"(ZoT)=Z21/Z2 s. il sy uel «ldl

In a two port network, input current is 10 A and input voltage is 20 V. Output cusrent is 4 A and
output voltage is 20V. Input impedance is

A. 20 B. 10Q

C. 50 D. 25Q
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1.

12.

2.

13.

13.

14.

1%.

15.

.

16.

165.

17.

ol W& Aeabul 8elye 52 10 A sl Soly2 s 20 V 8. wBaye s 4 A sl Soly2

clices 20 V 8. dl soiye sirdlsedt g ala?

u. 29 0{. IOQ

5. 50 5. 25Q
“Maximum power will be transferred from source to load if load impedance is complex conjugate of
source impedance.” Is a statement of which theorem

A. Norton’s theorem B.  Maximum power transfer theorem
C. Reciprocity theorem D.  Thevenin’s theorem

«ogl Als Srflsed AR Srllsorell sldsy sl slal dl AHYl AsHl AGAHH WaR
2lod$R AUl vl 58 [lAMe] R2lo2 B9

w. olelon [@Au o, AGAHH WeaR 2lens: @AM
5. U @A s.  Adslsl @AM

Dual of Capacitance is

A. Inductance B. Resistance

C. Capacitance D. None of these

FUlecue] SyuUA g B?

W BoSseo o, Wil™eat

5. 3Ulesu s. il sls uel o8l

The mesh analysis technique is useful when a circuit containing more number of
A. Current sources B.  Voltage sources

C. Dependent sources D.  None of these

wsleHl s ystell AR aR slat uR A Aletclflastl Gualol et 87
A 52 AR o, dler dRRA

5. [BUesecz WA s. Ll sls uel <8l

What is used in node analysis?

A. KVL B. KCL

C. KPL D. None of these

olls WelllARUHL Aol Guallol w2 B2

»  KVL o KCL

s, KPL s. il sls ue o8l

If source impedance is Zs=Rs+jXs and load impedance ZL=RL+JXL. Maximum power transfer takes
place when

A.  Rs=RLand Xs=XL B. Rs=RL and Xs=(-XL)

C. Rs=(-RL )and Xs=XL D. None of these

ol W S1llsed Zs=Rs+jXs ol Als S1lso ZL=RL+IXL 8la ll Allsiell cllsul
AGAHH WAR RUR 2SR ULRL?

Ul Rs=RL and Xs=XL o Rs=RLand Xs=(-XL)

g.  Rs=(-RL)and Xs=XL s, aiell sl8 uel «él

Thevenin’s equivalent circuit consists of

A. Voltage source and equivalent B.  Voltage source and equivalent parallel resistance
series resistance

C. current source and equivalent D.  current source and equivalent parallel resistance

series resistance

3/12



9.

18.

1c.

19.

1c.

20.

R0O.

21.

9.

22.

2.

23.

Ado(lon 8scfldctos usl2Hl 9 8l B?

U dleRy WA wa ssefldcdee o, cdleew A el 8s5cfldctoe Weed 2oflues
{l{ly 2ofluest

5. 522 Ul wd ssldcee 5. 52 U ud ssclldctoe Weet Wfluesd
{l{ly 2ofluest

Which theorem is used when a linear bilateral network is using two or more number of energy
sources?

A Reciprocity theorem B.  Norton’s theorem

C. Superposition theorem D.  Thevenin’s theorem

AR [@Ao{lar ottadee dedSHi d sl dal? Aol AU slat dl 58 [AAuell Guallol
yLL?

AU A_RE RAA o, olelot @AM

5. yuuldlaet R s.  Addlet @AM

The algebraic sum of current meeting at a junction is zero —it is a statement of

A.  KCL B. ALL

C. KPL D. KVL

%52ol UR AU Udl 5020l AARUs U Yot ULl B-2 Sloj R2Ho2 B?
»  KCL o ALL

s KPL s KvL

If two 4 Q resistances connected in series are connected across 8Volt DC Supply then voltage across
each resistance is

A 1Volt B. 2Volt

C. 4Volt D.  None of these

ol ol RARUL wslAc 4 Q 2ol svolt Sl ettt W wlsaunl d dl €35
2Aleotoll Asluul Secll clleewslu alal?
w1 de W, 2 de

5. 4dc s. 2wl sls uel «él
Dual of resistance is

A. Inductance B. None of these

C. capacitance D. conductance

Rl Ueore] SYUA g B?

W, Bosseod o Ll sl8 uel «8l
5. 3Uules S.  SoS5ecdd

The two Laws which form basis of circuit analysis were stated by

A Kirchoff B.  Faraday

C. ohm D. None of these

% ol [l usdle Aol wal & A sletl gl ealaa 82
a. Buls oL 23

5. sl s. il sle wel «él
Dual of node analysis is

A. Mesh B.  Mesh analysis

C. Node D. KCL

olls Astl@AA|e] YU g B2
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3.

24.

Y.

25.

Y.

26.

RS,

27.

9.

28.

RC.

29.

R¢C.

. HAU TR EYREN L1 (2 EY (B

5. olls s. KCL

Y IR+ E.M.F.=0 equation represent

A. KVL B. KCL

C. OHM’S law D. None of these

YIR+YEM.F=0 {1520l g olcld 82

u  KVL o KCL

5. leriell Ran s. il sl8 uel o8l

Norton’s equivalent circuit consists of

A. Voltage source and equivalent B.  Voltage source and equivalent parallel resistance
series resistance

C. current source and equivalent D.  current source and equivalent parallel resistance

series resistance

sllelod 8scllacioe usleul g ela B2

A dl@y W A 8sfldcdor . dle@y A el 8scfldcoe Wree flues
A 2oflest

5. 522 A ua vs<fldcioe 5. 522 AR ual sscfldctos Wee Wflueed
A 2oflest

Dual of current is

A. Impedance B. Resistance

C. Voltage D. None of these

5R020] SYU 9 B?

W, SoS52e o, ke

5. dley s, well sls uel «él

if 10Volt voltage source with 5Q internal resistance is connected across 5Q load resistance then
maximum power transferred to load is

A. 3Watts B. 4 watts

C. 5 Watts D. 6 Watts

50 Boeolel 20l YRl 10V oll dlcey AAal %l 50 cls 2Whleod UL FlsalHl 2w
Al clsHl 32l AEAHH WdR glodgR Ul

A 3 dled o, ¥ dl2d

5. W odlgd s. s dleyd

Load current in thevenin’s equivalent circuit is given by

A.  Vih/(Rth+RL) B. (Vth*Vth)/Rth

C. Vth/Rth D.  None of these
Adollodt Bs<ldcioe usleul Als s20e g &lal B2

a  VIW/(Rth+RL) o (Vth*Vth)/Rth

5.  Vith/Rth s, adidl S8 uel «1él
Load current in Norton’s equivalent circuit 1s given by

A {Isc*Req)/Req-RL B. (Isc*Req)/Req+RL
C. Isc/(Req+RL) D. None of these
ollelodt Bscldctioe UsleHl cls s2w0e 9 sla B2

. (Isc*Req)/Req-RL o (Isc*Reg)/Reg+RL
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30.

30.

31

34.

32.

3.

33.

33.

34.

3¥%.

35.

34,

36.

5 Isc/(Req+RL) 5.

Dual of Open circuit is

il 88 uRl «él

A. Open circuit B.  Short circuit voltage

C. Short circuit D.  None of these

Uluel Usleq] syua g B2

A wlluet udle o, ol usle dlex

5. ol udle s. el sls wel «él

“The ratio of maximum energy stored per cycle to the energy dissipated per cycle™ is
called

A. Resonance B.  Anti-resonance

C. conductance D.  Quality factor

“NEAHM Aot 2218 U WBsE wal Aotof] Sl{lU2s U Wweseloll oJRltR” o g secua?
U, WAloted o, Wotl-RAelet

5.  SoS520d s.  sdle{lél ¥se?

“The impedance offered by a complex network consisting of reactive component 1s
purely resistive”. The phenomenon is called

A Resonance B.  Anti-resonance

C. conductance D.  Quality factor

AAsdla slidlaee Al slindsy dedbel s1rdlset wlRe{l 2aflxéla slal B- w Yzl

9] sdauA?

W leledt o, Aodl-¥letedt

% 505520l s.  sdleldl $se?
The quality factor of capacitor is

Al Qc=oC/R B.  None of these

C. Qc=1/0CR D. Qc=oCR
30lerell s<llcldl ¥522 sl B2

w, QoCR o, well sls uel «él
5 Qc=1/oCR S. Qc=wCR

In series R-L-C circuit if R=1ohm ,L=1H and C=1F then fr=

A. (172n)Hz B. (2mHz

C. (2/m)Hz D. (l/m)Hz

A% R-L-C udleul %l R=1ohm ,L=1H wal C=1F &l dll fr=
A, (120)68% . (2n) 88

5. (2m) &% 5. (l/m) &%

For perfectly coupled circuit

A.  M=l/SQRT(L1L2) B. M=SQRT(L1L2)
C. M=L1L2 D. Non of the above
yRisecll sues ugle w2

A M=1/AdHO(LIL2) o, M=clHA(LIL2)
5. M=LIL2 5. vl 5l ual w8l
Selectivity=

A, fi/BW B. fr*BW

C. BW/f D. fr-BW
RREICIEE
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36.

37.

39.

38.

3¢C.

39.

3¢.

40.

¥0.

41.

¥4a.

42.

¥R.

43.

frt/BW o [BW

.

s BWI/ft s frBW

Mutual inductance is a property associated with

A. One coil B. None of these

C. Resistor D. Two or more coil

122U A Bos52od UIUSL Sloll i «lsiAcll 82

W As sl o, el sls wel «él

5. ¥fle? S. ol AUl qUR 58e

An ideal transformer should have

A. Zero power dissipation in both B.  Extremely large self inductance of each winding
windings

C. Co-efficient of coupling =1 D.  All of these

WHSH 2lou sl sl sdaua?

u.  Glol cdlBeSloML ULleR Ol €35 ABeSloML Ack Bosseo Yl ¥ HL2l &l
SllQatet oAl sl

5. sllglllace alls sucloi=1 s, il o
A series R-L-C circuit consists of R=15Q,1.=3H and C=15pF then resonant frequency is

Al 71.71Hz B. 17.71Hz

C. 71.17Hz D. 17.17Hz

{3 R-L-C usleul %l R= 15Q,L=3H s C=15pF &lal cll 2Rotoe $lsalorll g &law?
W 7171 8% o 17.71 §&%

5. 71.17 &% S. 1717 &&%

Transformer works on

A. Kirchoff’s law B.  Faraday’s law

C. Snel’s law D. None of above

glot sl ol R 5LH 52 B?

u.  Slalgell an o, %33all [an

5. @del [an s, wll sls uel «dl

For Doubly tuned air-core transformer

A. It is used in Radio receiver B. Has both sides of transformers are tuned
C. All of these D.  Itis used to increase Bandwidth

sucll 2gdos ANR-512 glosllz w2
AU o Wl AUl duRga 8. ol ool slgell gleuslR &Yos sl
5. il ol o S. o doscllsu arRal GuAl( B.

A resistance of 10Q,an inductor and a capacitor having capacitive reactance of 60€ at resonance are
comnected in series then value of inductive reactance is

A. 10Q B. 50Q

C. 60 Q D. 60Q

10Q A2e2,805522 el 600 3UEld lAsecd vAnaddl 5Ul2a 2Rleted AL RHL
R3cll 8lad U Bossdla AAs2on g 8a?

. 10Q ulen ol. 500 dllex
S, 60Q BleH 5. 6.00Q dleH
Attenuator 1s used in

7/12



¥3.

44,

¥Y¥.

45.

¥U.

46.

¥5.

47.

¥9.

48.

¥C.

49.

A. Testing laboratories B.
C. All of these D.
WeoyAe AHL duRA B2

A, el Aelzedln o,
5. el au ¥ .
Relationship between Neper and Decibel is
A. Attenuation in B.

db=8.686*attenuation in Neper
C. Attenuation in D.

db=0.1152%attenuation in Neper

slflat? el 3lucd cAall ol sl B?
AU AoYyAot(Slollui)=8.686* oL,

Volume control of radio receiver
Volume control of TV receiver

2slall Alarell e slanl
el Allarell ey sgleni
Attenuation in Neper =8.686*attenuation in db

None of these

WA Yot (A2 UL)=8.686*
WAoyA et (Slollil)
wHLl s18 uel o8l

None of these
Capacitive network

il 88 uel «él
3UA e slead

decreases
None of these

U2
il 88 uel «él

For symmetrical lattice attenuator has 6 db loss and load impedance of 100 Q then value of R1 is

RIAElsd Al Aoy 2 MR %l AU 6 db sl wal dls 81dlsed 100 Q &lal dlR1 ol

3.33Q
33.3Q

3.33 wleH

Ao A ot (AN ARUL)
5. AdoyAao(Slollul)=0.1152¢ s,
Ao A 2ot (AU )
Attenuator is purely
A. Inductive network B.
C. Resistive network D.
Aoz u ARA 3l dead B2
U, Bossdla deab o,
5. Wldla dead 5.
After attenuation power level of output signal
A. Remains same B.
C. Increases D.
Aoy Aol Ul wB2y2e Rrlcle] WaR Add g al?
AU, U W o,
5. dd .
A, 333Q B.
C. 3Q D.
Bud 9 s
. 333 2leH oL,
5. 3 3leH s.

In symmetrical lattice attenuator with characteristic impedance Ro and attenuation N the resistance of

series arm is given by
A. R1={Ro(N-1}}/(N+1) B.
C. R1={Ro(N+1)}/(N-1) D.

A3 el 2ofleot g 22
a  RI={Ro(N-I)}/(N+1) oL

5. RlI={Ro(N+1)}/(N-1) S.

Amplitade equalizer are used in

33.3 VoM

R1={Ro(N) }/(N+1)
R1={Ro(N-1)}/(N)

RAlsd Aatsy asu A2 Boll 32s2lEls Srdlsert Ro ol AefB Ao N &l cll

R1={Ro(N) }/(N+1)
R1={Ro(N-1)}/(N)
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¥C.

50.

Yo.

51.

uq.

52.

UR.

53.

u3.

54.

uy.

55.

A. Speech reproduction B.  All of these

C. telephony D.  Transmission lines

Anclleys ssaclsn sl daurla 82

. wflu Aulgsatetnl ol il wal o

5. 2ldslll 5. 2ledMalel ABel

Phase equalizers are used

A. To avoid phase distortion B. InTV signal transmission lines
C. All of above D. In Facsimile systems

382 BSAASRR FAL dURAU B?

w380 Skeldet g2 sall o. TV Rostcel gloMlalel cllsaml
5. il o op 5. slusa Rrennl
Following is not a amplitude equalizer

A. Series type two terminal B.  Lattice type four terminal
C. Parallel type two terminal D.  shunt type two terminal

5 Anc{leys ssaclsn odll?

w AEl asu g edlaa o, dasy 2y sk edlad
5. Wedd 2wy g 2{laa 5. e 28U g elac
Which is phase equalizer?

A. Parallel type B.  Lattice type

C. Series type D.  Shunt type

5 362 B5AALBNR B?

A UREA 2BU o, dasy asu

5. R3» asu 5. o2 2ABU

In symmetrical-wt type attenuator with characteristic impedance Ro and attenuation N the resistance of

shunt arm is given by
A. R2={Ro(N-1}}/(N+1) B.  R2={Ro(N)}/(N+1)
C. R2={Ro{(N+1)}/(N-1) D.  R2={Ro(N-1)}/(N)

RAGlse- 7 asU Aeyl2: Boll 32s52Els s1Ulsedt Ro vol Aoyt N &l cll o

Ul 0flecit g 622
a  R2={Ro(N-1)}/(N+1) o R2={Ro(N)}/(N+1)

5 R2={Ro(N+1)}/(N-1) s, R2={Ro(N-1)}/(N)

In symmetrical-T type attenuator with characteristic impedance Ro and attenuation N the resistance
of shunt arm is given by

A. R2={2NRo }/{{(N+1)}N-1)} B. R2={NRo}/{(N+1)}(N-1)}

C. R2={2NRo }/{{(N+1)}N+1)} D.  R2={2N}/{(N+1}N-1)}

RALsc- T aldu B2oyaler Boll 33s2dls s1dlsed Ro Al Moot N 8l cll Ao

Ul 0flecit g 622
u  R2={2NRo}/{(N+1)(N-1)} o R2={NRo}/{(N+1}N-1)}

5 R2={2NRo}/{(N+1)(N+1)} s, R2=[2N}J/{(N+1)(N-1)}

In symmetrical-m type attenuator with characteristic impedance Ro and attenuation N the resistance of

series arm is given by
A. R1={(N-1}N+1)Ro}/{N} B. RI={(N-1}N+1)Ro}/{2N}
C. R1={(N-1)}N-1)Ro}/{2N} D. RI={(N-DXN+1)}/{2N}
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uy.

56.

us.

57.

ud.

58.

uce.

59.

ue.

60.

50.

RALsc- o 2B A2oyaer Boll 3352ls s1dlsed Ro el Moy At N sl cl AR
Ul oflecit g o2

a  RI={(N-1)}N+DRo}/{N} o RIS{(N-D(N+DRo}/{2N}

5 RI={(N-1)N-1)Ro}/{2N} s RI={(N-D(N+D/{2N}

For symmetrical-T attenuator has 40 db loss and load impedance of 300 Q then value of R2 is

A, 3Q B. 4Q

C. 5Q D. 6Q

RALscA-T Moy U2 %l AL 40 db &l ol cls Brdlsert 300 Q 8l L R2o{l (Buet

9 aUlL?

. 3 llend oL 4 e

5. 53lex s. 6 uleH

It passes certain band of frequencies.

A Band stop filter B.  All pass filter

C. Low pass filter D.  Band pass filter

Aui Assu Aosell glscior{l W alz

u. Hos R (3R ol e W BeeR

5.l W (e 5. olos WX (3R

Drawback of constant-k filter is

A. Attenuation is not sharp in B.  Characteristic impedance is not constant
attenuation band

C. Mismatch occurs at different D.  All of above

frequencies when terminated in
fixed resistive load

slolr22-k (3ceell dRslALL Ul B?

AW Boyslaet dosHl o, 3vs2dléls srdlset wuUM ol sl
Aoyt 2w ol 8lat

5. R glses 0fléla clgul s. Ml o o
eHlale s3lA R elyel
glsclor(lA H{luu el

It stops certain band of frequencies.

A Band stop filter B.  All of above

C. Band elimination filter D. Band reject filter

AHi Wssy Aosofl Flsclorll Wi ot wa

AU, olos WU (3eeR ol il ol o

5.  Olos AAlH{lalatet (Beer S.  Wos Jlwse (3ceR

For an ideal filter

A All of these B. infinite attenuation in stop band

C. Transition region between stop D.  Zero attenuation in pass band
band and pass band would be very
small

wsSlacd Beer w2

wu, il wt or o R desul WA2eyA ol Uoid sl
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61.

59.

62.

5.

63.

53.

64.

5%.

65.

SU.

66.

5. AU Glos el WA Aos 5. WA AosHl Aoy alel Yol &l
cAell gioflatet [Qewot o

olloll &l

For m-derived filter

A Sharper cut off characteristics B. Zo will be more uniform within passband
with steeper rise at fc

C. Both A & B D.  None of these

m-SlaLses (BeeR ui

AU, fo A WUR A8 WA Wik ol WA AeSHL Zo AU YEsL &l
sealls 35232 lsU

5. AUaB old s. il sls wel o8l

Frequencies between 100 Hz to 2000 Hz should pass. All other frequencies greater than 2000Hz should

stop. Which filter should use.
A Band stop filter B.  High pass filter
C. Low pass filter D.  Band pass filter

100 882 U12000 623 Flsclor{l W wL.oudloll Wil glscsll 2000 Hzel WAL WL «lt a2l 41
HER 5 (3eeR alural?
w.  Oos el (3eeR ol &8 w (Bee?

5. l W (3eer 5. Wles W (Bee?
For constant k type high pass filter

A fo=1/(4n/sqrt(LC)) B. fe=1/(4n+sqri(LC))

C. fe=1/(4n-sqrt(L.C)) D. fe=1/(4n*sqrt(LC))
sloteee-k 2lsu slsud (Bee W

AU, fe=1/(4AHO(LC)) o fe=1/(4n+RBHAILC))
5. fe=1/(4n-AHA(LC)) 5. fe=1/dn* alyoLe))
A T or n network 1s called constant-k type if

A Z1724K*K B. Z172=K*K

C. Z1/Z2#K*K D. ZIl/Z2=K*K

T AUl 1 A2cldel slelree-k 2lu sdalll

u  Z1Z2#K*K o Z1Z2=K*K

g ZUZ2/K*K s ZUZ2=K*K

For m-derived n-section low pass filter if cut off frequency is 1.5KHz and infinite attenuation
frequency is 1.8KHz then value of m is

A. 0 B. 0.553

C. 1.553 D.  None of these
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In m-derived filter value of m is

A. m>1 A, m<0

C. 0<m<1 C. 0>m>1
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Frequencies between 2000 Hz to 2500 Hz should stop. All other frequencies should pass. Which filter
should use.

A. Band stop filter B.  High pass filter
C. Low pass filter D.  Band pass filter
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Frequencies between 2000 Hz to 2500 Hz should pass. All other frequencies should stop. Which filter
should use.

A Band stop filter B.  High pass filter
C. Low pass filter D.  Band pass filter
2000 Hz to 2500 Hz glsclod{l URIR ald ol ofly ol glsaotll urr ol wa d M4 (3eeR
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Frequencies between 100 Hz to 2000 Hz should stop. All other frequencies greater than 2000Hz should
pass. Which filter should use.

A. Band stop filter B.  High pass filter
C. Low pass filter D.  Band pass filter
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In constant-k type filter value of (k*k) is

A.  CIL B. 1/LC)

C. L/C D. (O
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